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Math Professor: Okay class,
that is how you integrate
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Math Professor:
*Slaps roof of integration constant™
This bad boy can fit so many real numbers in it
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Math Professor:
*%laps roof of integration constant*
This bad boy can fit so0 many real numbers in it

1.122 x 980

Ayl 1 - 2y
9 ( J1 b c) = 2 (VT kd)

p il aCey L& &2 @)] - Ce-9f = [ 6o Gean) o C7)

Gk ( x-7)7

Cmn (ot + Oet)- (of(*;‘?)j M» ZWT (\’7‘7) on (xt7)

=

0 Cxrl ¢ Catd) s Cr) L bewr) ano)
(-1 * b7

—

J st e b A _ j[ 4007 _ //*/J(/@//%x :
= X [4[})4—3
—L__ . 2 oGy casld
C/ T{'g(m) m ’ )Z(/;L_-}-m_, (Z)/?L’ A/ caf )

7

= W S X Fom Y oSV

-

0 Cx*dr = 45" x

g Cxtdr = L <" g

9§ Zdr = L)

d [y o = AHllzl) e = L[ xrdl) ¢

Vorlesung 10 Page 8



v-) 1352} Yz ANCLTL) T = N ATe4) )
Z
-G 1L

¢ f % 0{)(:7;?‘X +C

G e 2 e :
Methsk 11 for ticde 0 n)epva iim "
%) 5 iy (o -y da = Yy 2Rl — 5 &sCy) am (Hdr / ~ T

@ o = #sW — S f pords

T
= )L g()/;(f(/ csWdr = ax) )
s

NN

}_ Tn (X - (X O)Ar = % Un ZZfV +<

Mothode 2 wth ofr fubion
S % (%) cos Cx) dr }[/3 2 'g),L; casly  [vdx ] caty
(A C
b dx = f%/

= SY Wv—}iw: 7xt +c

IR

= T oanim

A)sz(kcof&/mn(/r/}a/a :Mﬂr # Mﬂr

I re
T, §k(‘o§(z/ c//} = K 2/4(2/ v-j'/o 'm'(Vdd’ = X" mlt/ f-de(’V'f'Cf
A il
Y }m/ cefly)
I, 501;1((}0{)( = —~c5l¥) +C2
T =D+ = x mWresar—=m0 + 0 +6 = 73 <
=c
— 2 Ay
V{‘/ﬁxp\&/ﬁ U= 1+, % = 2r
G di= 5% dy
/3
§ X gd = 262a = 14w e B 40mY

7) 5 (6 20 G-3x) +3e~z/r+5\) Ax
- 6j 7in (4’3)“9/4" 7l—-} S‘e"za' 5/;)/ + 5?%/)/

=6 (-3 F4(2) e v Tx +C

Vorlesung 10 Page 9



= 6 cof (%30 § 4 (2) e L Tx +C

5@5 -~ XL —2x)
Jxr —3x -6

~Gat~3x — 4§
0

j ML > /gk LA R ! #H Tx=6)  (xtored) = xors

=) 5 xthde = Zxltpyx +c

{) j XHY
xL+34-28
(e bebtor 29 lgny s x243:-28 S0 o xg=-12/Zr2s
I = @V X, = —#
Cex+2) &)
PB2  x#29 L A 8 _ A + B8P
) 6y~ GAP) * &4 (42~ br~)
O x+¥ = g2X-64 +fx +34
2D 1= 4 18
:929 = -—(fa47"71ﬁ
B =3
=~2
- —2 3
> T e dx
= Lt Lty = -2 G 3 B e
iy q) L= ax-x* Mall Stelle,: x (46—X/ S0 5 a0 v 9- %’;2

(= 6—2x L0 o x=2
)= g-4=¢ S =&

[

N
N\

Vorlesung 10 Page 10



b) FrExi— Gxt 46y
N5 k=D Und v =2 €& dopoclts My stele

x-(xt=%r +4¢ =0 D xo0o V| X% +G=0

£0G)= 35 —8xe6 30 [

76
X"~ ~32/} +’3Q =0 5 %, = £ 7"3,9—
X7 = —Eé:Z
Xz = Z
G {o = o -
4
X IR \051[[’(/4'} - -3—
Bom Ly = —0
kD-RP

il 4 j cos0) iy

7:,(4/4—_—} d , ¢ , ;
c( (am&r/ﬁ]‘ /qm} Yo dx NG
M 2ty
~§2—}{/ ga%/r) “’M 5”/ /‘/

= 94y = 24 £ Zm
2 z z
) j@/z:gi*’?’i’im:y;@ux

y:/,.(ﬂ/ ﬁlj:% > ﬁ/;r:)r-,&

dr

o [T ux x> 4
Lr X
e -e’-1
5{{/5/1 H/{é» !
x 1 X | . 7 .

Vorlesung 10 Page 11



Sqlsft Filin 1

-
1423)f dr = @k =y =) Adx= a—ﬁ/ﬂ
L j 4ty 2 e = /( ATy
C{Z;ll-'l u &£ = qtu -L
ur—u-12 Zo = u= %’1‘@‘;27 =, 2 =T
5@”‘%4 du = ;%‘du = 4l(u2) +c

Bsp. S e ol LI ¢ 4

+ x3\\ex
- 2 X _ . _ /‘ X
= xXle¥ 17l oF tho¥ beFo < N = £y SHpd
e + 6 x\ e ?L/ o a{
b ¢ 4-CHE~Sefd]
t 0 e”

— 5
= XTet et 1 e)('Sée*

(I\U/ 4) S)( ) doe= —x cosCx) + 5 Cos (¥ dx

2 ;} = =X 5 + 4 (¥ FC
b) §7z}, 2x) od¥ = 5 s (0 - o d) A7
£ g/

= ~mW- et + § oy -l Ly

=ces ) =7 724 1[47
/C/— 4 = 7 ZCX/ +(0.§7‘/\/

M)“ < ~m sl + §7 Ax ~ § g, %00dr |+ T

7 A

2, § Iy G rf/\’ = ~m(x) -¢f L +X

ol » Mo er L

d § Ahddr = j/&;(/}/'?\ Ax
7
t 7

= LW x = [ L o dr = LW x- (e

~ /¥y .o x— X ac

Vorlesung 10 Page 12



C+g =C
Aadgabe U
/ Amnt) _ | —4€
m U= JT = de  ~c

—4
Cwidi=-£ o™ —ctr K

m(Q = 1Wny > —fe”«c-a +tk = —

:—) ﬁ: /]01'!) + Bﬂln, .':'—40»:7

~4t
9 m ) =Gowmy ~30ay € ¢ —0,7 % £

r
Mn

Vorlesung 10 Page 13

L 4

b

¢




